FOR INFORMATION ONLY !

5350005

5355003

E-valve : Page 4, 5

&
A
’ 7 (@) ()
'J‘,l. ¥

7

(4

B-valve : Page 6,7

A-valve : Page 8, 9

7371032 : Cylinder |

1371033 : Cylinder |l
1371034 = Cylinder Il

1157005

4103016

0 GG-C | 15-05-2025
REV. | BY | DATE DESCRIPTION
TOLERANCES UNLESS OTHERWISE STATED. | COLOR: SIZE: |STATUS: ART. NO.:
A2 | Released |puensions: mmncr
PROJECT: MATERIAL: -
Exploded views CF100 SLL SCALE: 1:6| SHEET: L
DRAWN: GG-C|DR. DATE:  26-11-2024
DESCRIPTION: APR. BY: ES|APR. DATE: 15-05-2025|
. TREATMENT:
Assembly drawing CATEGORY.
® Byte 14 PROJECTION: | DRAWING NUMBER:
Pa e I CARGO Hoon NL-7741 MK Coevorden 0021755
Phone : +31-524-593900 @S
HORZONTALLOADING./UNLOADINGEYSTEM E-mail : info@cargofioor.com DEBURR SHARP EDGES| WEIGHT:  344.95 KG
THIS DRAWING IS THE PROPERTY OF CARGO FLOOR B.V. AND MUST NOT BE COPIED OR REPRODUCED WITHOUT THEIR WRITTEN AUTHORITY (ISO 16016:2016)




FOR INFORMATION ONLY !

5154003

Page 2

5154004

5154002
0 GG-C | 15-05-2025
REV. | BY | DATE DESCRIPTION
TOLERANCES UNLESS OTHERWISE STATED. | COLOR: SIZE: |STATUS: ART. NO.:

A2 | Released |puensions: mmncr
PROJECT: MATERIAL: -
Exploded views CF100 SLL SCALE: 1:6| SHEET 25
DRAWN: GG-C|DR. DATE:  26-11-2024

DESCRIPTION: APR. BY: ES|APR. DATE: 15-05-2025|

. . i TREATMENT:
Pistonrod guidance & cylinder clamps CATEGORY.

PROJECTION: | DRAWING NUMBER:

CARGO FLOOR’

Byte 14

NL-7741 MK Coevorden
Phone : +31-524-593900 @S
E-mail : info@cargofloor.com

0021755

DEBURR SHARP EDGES | WEIGHT:  344.95 KG

THIS DRAWING IS THE PROPERTY OF CARGO FLOOR B.V. AND MUST NOT BE COPIED OR REPRODUCED WITHOUT THEIR WRITTEN AUTHORITY (ISO 16016:2016)




FOR INFORMATION ONLY !

10043/420

10043/420

10043/420

10043/420

10043/420

1004125

1155057

7155058

7155059

71155060

1157005

10043/420

10043/420

70043/420

1157005

70043/4720

Page 3

0 GG-C | 15-05-2025
REV. |BY | DATE DESCRIPTION
TOLERANCES UNLESS OTHERWISE STATED. | COLOR: SIZE: |STATUS: ART. NO.:
A2 | Released |puensions: mmncr
PROJECT: MATERIAL: -
Exploded views CF100 SLL SCALE: 1:6| SHEET 3
DRAWN: GG-C|DR. DATE:  26-11-2024

DESCRIPTION: APR. BY: ES|APR. DATE: 15-05-2025

. TREATMENT:
Piping CATEGORY:

PROJECTION: | DRAWING NUMBER:

CARGO FLOOR’

HORIZONTAL LOADING-/UNLOADINGSYSTEM

Byte 14

NL-7741 MK Coevorden
Phone : +31-524-593900 @S
E-mail : info@cargofloor.com

0021755

DEBURR SHARP EDGES | WEIGHT:  344.95 KG

THIS DRAWING IS THE PROPERTY OF CARGO FLOOR B.V. AND MUST NOT BE COPIED OR REPRODUCED WITHOUT THEIR WRITTEN AUTHORITY (ISO 16016:2016)




FOR INFORMATION ONLY !

1370101

11540111

Page 4

101714

101714

E->B:7170039
B ->E: 7170041

63050127 6305014 6305017 6305014 '"7154007
| | || | |

6305010 6305009
0 GG-C | 15-05-2025
REV. |BY | DATE DESCRIPTION
TOLERANCES UNLESS OTHERWISE STATED. | COLOR: SIZE: |STATUS: ART. NO.:

IS0 13920 AE None A3 | Released |puensions: mmncr
PROJECT: MATERIAL:
Exploded views CF100 SLL SCALE. 1:2.5) SHEET. 36
DRAWN: GG-C|DR. DATE:  8-11-2010
DESCRIPTION: APR. BY: ES|APR. DATE: 15-05-2025|
. TREATMENT:

Control valve E-operation CATEGORY.

5 PROJECTION: | DRAWING NUMBER:

yte 14

CARGO FLOOR’

NL-7741 MK Coevorden
Phone : +31-524-593900
E-mail : info@cargofloor.com

-

0021786

DEBURR SHARP EDGES| | WEIGHT: KG

THIS DRAWING IS THE PROPERTY OF CARGO FLOOR B.V. AND MUST NOT BE COPIED OR REPRODUCED WITHOUT THEIR WRITTEN AUTHORITY (ISO 16016:2016)




FOR INFORMATION ONLY !

5159002

M6x20 DIN 933 ELVZ

1071006

1170040
11540111

1370101
6305009
M6 DIN 1277 ELVZ

Mox20 DIN 933 ELVZ

M6 DIN 127 ELVZ <
M6x80 DIN 912 ELVZ

7071006 1310107

7071006 6305010 M8x10 DIN 931

M8 DIN 127 ELVZ
13710511

A+B+C+D="7376009

0 GG-C | 15-05-2025
REV. | BY DATE DESCRIPTION
TOLERANCES UNLESS OTHERWISE STATED. | COLOR: SIZE: |STATUS: ART. NO.:
ISO 13920 AE None A3 | Released |pensions: i nch
PROJECT: MATERIAL:
Exploded views CF100 SLL SCALE: 1:7| SHEET. il
DRAWN: GG-C|DR. DATE:  8-11-2010
DESCRIPTION: APR. BY: ES|APR. DATE: 15-05-2025|
i TREATMENT:
Control valve E-operation CATEGORY.
® Byte 14 PROJECTION: | DRAWING NUMBER:
C‘ Rﬁo HOOR NL-7741 MK Coevorden 0021786
a g e Phone : +31-524-593900 @ E

HORZONTAL LOADNG./UNLOAZINGS YSTEN E-mail : info@cargofloor.com DEBURR SHARP EDGES| WEIGHT: KG

THIS DRAWING IS THE PROPERTY OF CARGO FLOOR B.V. AND MUST NOT BE COPIED OR REPRODUCED WITHOUT THEIR WRITTEN AUTHORITY (ISO 16016:2016)




FOR INFORMATION ONLY !

1370101

11540111

Page 6

101714

B ->E: 7170041
E->B:7170039

63050711

6305014 7154007
|

6305009
0 GG-C | 15.05-2025
REV. | BY | DATE DESCRIPTION
TOLERANCES UNLESS OTHERWISE STATED. | COLOR: SIZE: |STATUS: ART. NO.:
IS0 13920 AE None A3 | Released |puensions: mmncr
PROJECT: MATERIAL:
Exploded views CF100 SLL SCALE: 1:2.5| SHEET: /6
DRAWN: GG-C|DR. DATE:  8-11-2010
DESCRIPTION: APR. BY: ES|APR. DATE: 15-05-2025|
. TREATMENT:
Control valve B-operation CATEGORY.
? Byte 14 PROJECTION: | DRAWING NUMBER:
CA RGO HOOR NL-7741 MK Coevorden 0021786
Phone - +31-524-593900 @E
HORZONTAL LOADING./UNLOADINGS YSTEM E-mail : info@cargofloor.com DEBURR SHARP EDGES| WEIGHT: KG

THIS DRAWING IS THE PROPERTY OF CARGO FLOOR B.V. AND MUST NOT BE COPIED OR REPRODUCED WITHOUT THEIR WRITTEN AUTHORITY (ISO 16016:2016)




FOR INFORMATION ONLY !

5159002

M6x20 DIN 933 ELV/Z

1071006

1170040
11540111

1370101

6305009
M6 DIN 1277 ELVZ

Mox20 DIN 933 ELVZ

M10x16 DIN 912 ELVZ
1677004

M6 DIN 1277 ELVZ

M6x80 DIN 912 ELVZ
7171103

1317004
7071006

M8x10 DIN 931
M8 DIN 127 ELVZ
13710511

M12x25 DIN 912 ELVZ

1154016 A+B+C+D=7376009
0 GG-C | 15-05-2025
REV. | BY | DATE DESCRIPTION
TOLERANCES UNLESS OTHERWISE STATED. | COLOR: SIZE: |STATUS: ART. NO.:
ISO 13920 AE None A3 | Released |puensions: mmncr
PROJECT: MATERIAL:
M6 DIN 127 ELVZ Exploded views CF100 SLL SCALE: 1:7| SHEET: 26
7398007 DRAWN: GG-C|DR. DATE:  8-11-2010
M6x25 DIN 912 ELV/ DESCRIPTION: APR. BY: ES|APR. DATE: 15-05-2025
i TREATMENT:
Control valve B-operation CATEGORY.
7354005 9 Byte 14 PROJECTION: | DRAWING NUMBER:
C‘ Rﬁo HOOR NL-7741 MK Coevorden 0021786
a g e Phone : +31-524-593900 @ E
HORZONTAL LOADNG./UNLOAZINGS YSTEN E-mail : info@cargofloor.com DEBURR SHARP EDGES| WEIGHT: KG
THIS DRAWING IS THE PROPERTY OF CARGO FLOOR B.V. AND MUST NOT BE COPIED OR REPRODUCED WITHOUT THEIR WRITTEN AUTHORITY (ISO 16016:2016)




FOR INFORMATION ONLY !

1370101

11540111

Page 8

101714

0 GG-C | 15.05-2025
REV. | BY | DATE DESCRIPTION
TOLERANCES UNLESS OTHERWISE STATED. | COLOR: SIZE: |STATUS: ART. NO.:
IS0 13920 AE None A3 | Released |puensions: mmncr
PROJECT: MATERIAL:
Exploded views CF100 SLL SCALE: 125| SHEET: L
DRAWN: GG-C|DR. DATE:  8-11-2010)
DESCRIPTION: APR. BY: ES|APR. DATE: 15-05-2025|
. TREATMENT:
Control valve A-operation CATEGORY.
? PROJECTION: | DRAWING NUMBER:
Byte 14
CA RGO HOOR NL-7741 MK Coevorden 0021786
Phone - +31-524-593900 @E
HORZONTAL LOADING./UNLOADINGS YSTEM E-mail : info@cargofloor.com DEBURR SHARP EDGES| WEIGHT: KG

THIS DRAWING IS THE PROPERTY OF CARGO FLOOR B.V. AND MUST NOT BE COPIED OR REPRODUCED WITHOUT THEIR WRITTEN AUTHORITY (ISO 16016:2016)




FOR INFORMATION ONLY !

M12x25 DIN 912 ELVZ

1154016

1398007

1354005

M6x80 DIN 912 ELVZ

5159002

M6x20 DIN 933 ELVZ

1677004

M6 DIN 1277 ELVZ

7171103

M6 DIN 127 ELVZ
M6x25 DIN 912 ELVZ

Page 9

M10x16 DIN 912 ELVZ

1071006

1170040
11540111

1370101
1317007
M6 DIN 127 ELVZ

M6x20 DIN 933 ELVZ

1317004 M8x10 DIN 931

1071006 M8 DIN 127 ELVZ

73710511
A+B+(C+D=7376009
0 GG-C | 15-05-2025
REV. | BY DATE DESCRIPTION
TOLERANCES UNLESS OTHERWISE STATED. | COLOR: SIZE: |STATUS: ART. NO.:
ISO 13920 AE None A3 | Released |pensions: i nch
PROJECT: MATERIAL:
Exploded views CF100 SLL SCALE: 1:7| SHEET. 6/6
DRAWN: GG-C|DR. DATE:  8-11-2010
DESCRIPTION: APR. BY: ES|APR. DATE: 15-05-2025]
i TREATMENT:
Control valve A-operation CATEGORY.
® Byte 14 PROJECTION: | DRAWING NUMBER:
C‘ Rﬁo HOOR NL-7741 MK Coevorden 0021786
Phone : +31-524-593900 @ E
HORZONTAL LOADNG./UNLOAZINGS YSTEN E-mail : info@cargofloor.com DEBURR SHARP EDGES| WEIGHT: KG

THIS DRAWING IS THE PROPERTY OF CARGO FLOOR B.V. AND MUST NOT BE COPIED OR REPRODUCED WITHOUT THEIR WRITTEN AUTHORITY (ISO 16016:2016)




CARGO FLOOR - EXPLODED VIEWS CF100 SLL

Rev: 22-07-205

ART. NO. BENAMING DESIGNATION
4103010 Kunststofkam 7/112 H32mm (wit) Came synth. 7/112 [4.41"] H.37mm [1.26"] (blanc)
5154002 Klembeugel 3-voudig CF100/CF150 Etrier de serrage (triple) CF100/CF150
5154003 Klembeugel t.b.v. zuigerstang 259 mm CF100/CF150 Etrier de serrage triple pour la tige de piston 59 mm [2.32”]CF100/CF150
5154004 Klembeugel t.b.v. cilinderbodem 94 mm CF100/CF150 Etrier de serrage triple pour le fond du vérin 94 mm [3.7”] CF100/CF 150
5159002 Afstandsring rond 30 mm (omschakelventiel) Entretoise, rond 30 mm [1.18”] (bloc commutateur)
5160006 Cilinderstanggeleidingsset CF100/CF150 (compleet) Verin Plague de guidage CF100/CF150 (complet)
5350005 Montagestrip (6x M12/240 mm) Bande du montage (6x M12/240 mm [9.54"])
5355003 Draadstang compleet (1000 mm.) Tige filetée complétement (1000 mm. [39.4"])
6305009 Magneet + stift 24V Cargo Floor (GS02) (inc. rode noodbediening) Mine + aimant 24 V. Cargo Floor (GS02) (incl. commande manuelle en danger)
6305010 Magneet + stift 24V Cargo Floor (G02) Mine + aimant 24 V. Cargo Floor (G02)
6305011 Stift Cargo Floor (GS02) Mine Cargo Floor (GS02)
6305012 Stift Cargo Floor (G02) Mine Cargo Floor (G02)
6305014 Magneet Cargo Floor G(+GS)02 24V Aimant Cargo Floor G(+GS)02 24V
7004120 Rechte inschroefkoppeling 1" x 20 mm Raccord droit 1" x 20 mm [0.79”]
7004125 Rechte inschroefkoppeling 1" x 25 mm Raccord droit 1" x 25 mm [0.98”]
7071006 Inbus kraagplug 3/4 incl. dichting Bouchon Filets 3/4
7154007 Kunststof noodhandbediening GS02 Plastique commande manuelle en danger GS02
7155057 Hydraulische leiding nr. 1 (besturingsventiel 02/CF100) Tube hydraulique n° 1 (bloc de commande 02/CF100)
7155058 Hydraulische leiding nr. 2 (besturingsventiel 02/CF100) Tube hydraulique n° 2 (bloc de commande 02/CF100)
7155059 Hydraulische leiding nr. 3 (besturingsventiel 02/CF100) Tube hydraulique n° 3 (bloc de commande 02/CF100)
7155060 Hydraulische leiding nr. 4 (besturingsventiel 02/CF100) Tube hydraulique n° 4 (bloc de commande 02/CF100)
7157005 Common rail A compleet Common rail A complet
7170037 Voorstuur omschakelplunjer L.= 306 mm. / D.= 16 mm compleet Barre bloc de commuté L.= 306 mm. [12"] / D.= 16 mm [0.6"] complet
7170039 Ombouwset besturingsventiel E->B inclusief arretering Un set de la modification pour un bloc de commande E->B, incl. encliquetage
7170040 Deksel Bedienplunjer besturingsventiel 02 compleet Couvercle plongeur de commande bloc de commande 02 complet
7170041 Ombouwset besturingsventiel B->E Un set de la modification pour un bloc de commande B->E
7170043 Deksel Omschakelplunjer besturingsventiel 02 compleet Couvercle plongeur de commuté bloc de commande 02 complet
7170044 Deksel bedienplunjer besturingsventiel 02 (arretering) compleet Couvercle plongeur de commande bloc de commande 02 (encliquetage) complet
7171103 Bronzen bus (B-bediening) incl. afstrijker Boite bronze (B-commande), inclus racle
7177005 Plunjer omschakel L.= 146 mm / D.= 35 mm compleet Plongeur commuté L.= 146 mm [5.7"] / épais= 35 mm [1.4"] complet
7177007 Koppelstang B-bediening 16 (M10/M12) compleet Barre d'attelage B-commande @16 [0.6"] (M10/M12) complet
7317001 A-plug Fiche A
7317004 Plug G02 t.b.v. B-bediening Cheville GO2 a l'intention de B-commande
7354005 Handvat (rubber) Poignée (caoutchouc)
7370017 Besturingsventiel 02 E-bediend (compleet) Bloc de commande 02 "E" (complet)
7370101 Drukstift drukbegrenzingsventiel Mine de pression
7371032 Hydraulische cilinder CF100 SLL nr. 1 inclusief bevestigingsmateriaal Vérin hydraulique CF100 SLL n° 1 avec materiel de fixation
7371033 Hydraulische cilinder CF100 SLL nr. 2 inclusief bevestigingsmateriaal Vérin hydraulique CF100 SLL n° 2 avec materiel de fixation
7371034 Hydraulische cilinder CF100 SLL nr. 3 inclusief bevestigingsmateriaal Vérin hydraulique CF100 SLL n° 3 avec materiel de fixation
7371051 Beschermkap besturingsventiel 02 (compleet) Toiture protectrice bloc de commande 02 (complet)
7376009 Afdichtingset besturingsventiel 02 compleet Etancher bloc de commande 02 complet
7398007 Hendel oog (besturingsventiel 02) Manette oeil (bloc de commande 02)
7398008 Koker met S-arretering (besturingsventiel 02) Tube avec blocage en S (Bloc de Commande 02)
7677004 Bedienplunjer L.= 195 mm. / D.= 25 mm. compleet Plongeur de commande L.= 195 mm. / épais= 25 mm. complet
8370042 Besturingsventiel 02 B-bediend (compleet) Bloc de commande 02 "B" (complet)
4103016 Kunststofkam kick down 7/112 H32 (blauw) Coup de pied du peigne a roulements en plastique 7/112 [4.4« ] H.32 [1.26 »] (bleu)
5160002 Cilinderstanggeleidingsset compleet (CF300 / CF500) Verin plaque de guidage pour 3 tiges de piston, complet, CF300/CF500
7154011 Zegeldop voor DB ventiel Bouchon pour soupape de sécurité
7154016 Inslagdop B-bediening 70x70mm (zwart) Insérer le capuchon B-control 70 x 70 mm [2,76« x 2,76 »] (noir)




7370107

Drossel 6.5 mm (besturingsventiel 02)

Bobine ¢6.5 mm (bloc de commande 02)
8370045 Besturingsventiel 02 A-bediend (compleet) Bloc de commande 02 "A" (complet)
70043/420 Rechte inschroefkoppeling 3/4" x 20 mm. Raccord droit 3/4" x 20 mm [0.79”]
70171.4 Minimess plug (0-225 Bar) Minimess fiche (0-225 Bar) [3263 PSI]
71540111

Zegeldop voor DB ventiel (rood) — spare part

Bouchon pour soupape de sécurité (rouge) - piece détachée

Wijzigingen voorbehouden. Geldigheid prijslijst gedurende het aangegeven kalenderjaar,
waarbij altijd de actuele prijs in het Cargo Floor B.V. computersysteem geldt,

het is raadzaam vooraf de actuele prijs bij Cargo Floor B.V. te checken

Prijzen: Bruto per stuk in EURO, excl. B.T.W.

Levering: af werk, volgens onze standaard leverings- en betalingsvoorwaarden
Betaling: netto, binnen 14 dagen na factuurdatum

Wijzigingen voorbehouden.

Tous les changements sont réservés. Cette liste de prix n’est valable

que pour I'année en cours selon les tarifs Cargo Floor B.V. Nous vous

conseillons donc de contacter Cargo Floor B.V. au préalable pour vérifier les prix.
Prix : Brut en EURO, hors TVA

Livraison: départ usine, selon notre standard conditions de livraison et de paiement
Paiement: 14 jours nets date de facture

Sous réserve de modifications

www.cargofloor.com - info@cargofloor.com - 0031-524593900




	Tekeningen.pdf
	Sheet1
	Drawing View1
	Drawing View6
	Drawing View8
	Drawing View10

	Sheet2
	Drawing View2

	Sheet3
	Drawing View3

	4 tm 9 202505.pdf
	Sheet1
	Drawing View6
	Drawing View7

	Sheet2
	Drawing View8

	Sheet3
	Drawing View9
	Drawing View10

	Sheet4
	Drawing View11

	Sheet5
	Drawing View12
	Drawing View13

	Sheet6
	Drawing View14




